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The examination paper

1. What is a deficit?

2. Defining risk tolerance for a pension fund

3. Do sponsor companies and trustees have different objectives?

4. Role of the sponsor covenant in pension risk management. Can this be
quantified?

5. Constructing a matching portfolio

6. Recidivism revisited. How much risk should be re-imported into the matched
portfolio?

7. How does life change for companies and trustees in a post-LDI world?
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What is a deficit? 2: The landscape 2004
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What is a deficit? 3: The landscape 2005
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What is a deficit? 5: The landscape later in 2006
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What is a deficit? 8: Credit 101
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What is a deficit? 9: Gilt-collateralised

Discount rate
FTSE 100 625% | 600% _ 575% _ 550%  525% _ 500% _ 475% _ 450% _ 425% | 400% _ 375% | 350%
7.250

5.250 147 18 (1§ (B @1 (%9 (39 (1003) | (1349) (1695)
5,000 68 (61) (197} (340)  (400) (648) (8L4) (989) (1172} (1426) (1600) (1774
4750 (L) (40 (re) (19 (69 (27) (893 (1068 (1251) (1508 (162.9) (1853
4500 (00)| (219 (35 @98 (48 (806 (972 (1147) (1330)  (1584) (1758) | (1932)
4250 (169) (8  @34) (7)) (27 (885 (1051 (1226) (409) (1663 (1837) | (20L1)
4000 (a8 @7 (13 (655 (06 (94 (130 (1305 (488) (1742) (1916) | (2090)
a7so @27 @se) (92 (35)  (885) (1043 (1209  (1384) (1567  (1821) (1995 | (2169)
3so0| (@06 (535)  (671)  (814)  (64) (1122) (1288 (1463) (1646) (1900) (207.4) (2248)
i W OTISC LD

What is a deficit? 10: Credit-adjusted to BB

Discount rate
FTSE 100 625% | 600% _ 575%  650%  575%  500%  475% _ 450%  425% | 400% _ 375% | 350%
250 700
7,000
6750 175)
6,500 463 334 198 55 @6 (53) (419 (94  (710) (952  (1126) = (1300

a7 288 152 09 (41 (99 (65 (639 (823 (1081 (1205 = (1379
384 255 19 @4 (75 (82 (498) (673  (856) (110) (1284)  (1458)

ws 16 40 M @Y @) 60 (35 (1189) s
26 91 (9 R m oLy (29 m (1615)
w7 18 @8 \d o @ | @9 (139 9y (1367) (1695

5,500
5,250

5,000 68 (61 (197)  (360)  @80) (648  (8L4) (98 (1172}  (1426) (1600}  (1774)
4750 (L) (40) (78 (419  (69)  (27) (893  (1068) (1251) | (1505) (1679  (1853)

00 @L9 (5 @98 (648 (0§ (72 (4T (1380 (1584 (1758  (1932)
(169)  (208)  @34) (17)  (27)  (685) (1051) = (1226)  (1409) | (1663) (1637) = (20L1)
(48)  (@.7)  (513)  (656)  (806)  (96.4) (130) (1305) (1488) (1742  (196) = (2090)
(27| (56 (92 | (135 (885 (1043) (1209) = (1384) (1567) | (1821) (1995) = (2169)
@05)  (535)  (671)  (814) (94) (1122) (1288) (1463) (1646) | (1900) (207.4) (2248

12 KW 0TS0 L




The aggregate Risk Profile: A long tall
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The aggregate Risk Profile: (2) Relative comfort
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The aggregate Risk Profile: (3) Nervous equilibrium
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The aggregate Risk Profile: (4) Desperation
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The aggregate Risk Profile: (5) Discomfort zone
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Discomfort zone: (1) Credit circle
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Discomfort zone: (2) Cash Visibility

/

S

Credit rating

19 KW 0TS0 L

Individual Risk Profile: (3) Less Cash Visibility
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Individual Risk Profile: (4) Non-linearity: slippery slope
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Why the discomfort zone is dangerous (1)
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Why the discomfort zone is dangerous (2)
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From discomfort to desperation
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The effect of LDI: (1) Typical balanced portfolio
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The effect of LDI: (2) Matched portfolio
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